Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER - VI EXAMINATION - SUMMER- 2018

Subject Code: 3361903 Date: 03-05 - 2018
Subject Name: Industrial Management
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctlotl Fcllol AL, 14
State the system parameters.

2ttt (oW ULl

State the various types of systems.

doletl EL %EL USLRA Rl

Give four benefits of just in time (JIT).

%2 ol 2LFH (JIT) oll UR SLAEL B,
State five “R”’s of purchase function.

WILEL Hzell i “R”s QU

State the types of Gantt chart.

e AULell Ysl wuel,

Explain the significance of critical ratio of production scheduling if CR<1,
CR>1.

. %l CR<1, CR>18la dl Wgsalet lsycllowetl dealul (5lset a0l

Hecol AHLAl.

State any four labour laws enacted by government of India.

AURcl URSIR GlRL ALY WA AUR SH SIAERA Ul

List the types of floats of the network diagram and define any two.

o wLslA HZell sAlzall YUsIR QU Wal 51e5 uQl A ofl catvul

AL,

. List the functions of PPC and explain the follow up and expediting.
¢.  PPColl sl »QUcl Aol S WU Aol WUS|EoImRIHsIC.
10.  Explain the terms used in DARSIRI method.

0. DARSIRI UMl dURcdl UEl caldl.

> L OX AW ON e
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Q.2 (a)  List the principles of organization and explain any one. 03

sl () AUl Rl wRUal dul oA A As -l 03
OR

(@)  List the factors affecting in formulating organizational structure. 03
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llRAULAAAl HLOWHLo{l _AHL WMHUR 5l Ulatolell 1€l elatial.
State functions of storekeeper.
RRsIURedl sl .Ul

OR
State the advantages of centralized storing.

A2 AR @Al $LRAELRAL sRULA.
Differentiate between CPM and PERT.
AUAH AR UE AR dsladd Al

OR
Define:- (1) Inventory Control (2) Lead time (3) Buffer stock (4) Stock out

cqudl AW - (1) Sodoe3 Bigal (2) dls aleH (3) wgR w\s (4)

s WG
Explain the functions of materials management.
l-llC't%{lHOﬂ AALAstell sl AHostAl.

OR
Explain Wilson’s inventory model.

([Qetol Sodoedl I uHA.

Explain the importance of scheduling.
Alsycllole] el AU

OR
Explain the purchase procedure.

WRlElsLledl (AR qmesal.
List the characteristics of MS project.
VH AU, Ulgseatl el sl

OR
State the advantage of logistics.

AR sUall $LRAELRAL sRULCA.
Explain the relation between morale and productivity.

oA ol GAULE Sl clRAA ol UMl
OR

Explain factor affecting the job satisfaction.

sl AUUR 5cll URGAN UMl

List the popular methods of cost control and explain any one method.
UsR digalell YA A weucl dul Sl uel As I duuxstal,

OR
Differentiate between continuous and intermediate production.

Uclcl U d2s-des Geulesl cRAsll dslelcatl Yal xRl

Explain Critical ratio scheduling in brief.
(B3lsc 220 Alsycllor gsui umenal.

OR
Write a short note on Economic Batch Quantity (EBQ).

WlfEds cRel weaul 2 2sallu Aull.
Explain ABC analysis.
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uns (s AHeAl.

AHestal.

OR
Explain the fulkerson’s rule for preparing Network Diagram with example.

A2 SLRUH dAR sl HIZall $csol [AaAH Gelsel U

Draw a network diagram for the following activities. Show critical path and

calculate total project time.

Activity A B C D E F G

Immediate | _ | A | A | c |BD| C |EF
preceding activity

Duration in Days 7 9 6 4 5 8 3

o(lAsll ygla M2 Aead st ERL Aal 5258l Wel olclal dal
Ylgseall S AH20U00 20Ul

ygld A | B| C | D|E G
el ydoul

X R — | A | A c | BD EF

yg(d

AHA (Rl 7 9 6 4 5 3

CMYV manufacturing’s material has following details :

Annual requirements = 24,000 units

Ordering cost = Rs. 270 / order
Unit cost = Rs. 5/ unit

Carrying cost = 20 % of storage value

Find out the EOQ

CMV Aadsuilol Hllad W ol Aell [Qotdl & :

s 3Rl = 24,000 AsH
W82 €le B8R Wl = Rs. 270

AsH €l6 (St = Rs. 5

Qe W2l = AASAA MLl 20 %

Al GURe{l (Qotdla 2R EOQ .

Explain the following terms with reference to PPC.

(@) Routing (b) Dispatching.
GeulEat, Bl%at val Vigaoll AN&HL ol Ao{l (Aot UMl
() Ulsatell Mol (1) YUt Wal ALl €92 s:¢ll
Define bottleneck and state the effect of bottleneck.
ectals ofl calvaul AU Al Aofl uARA Ul
Explain Line and Staff organization.
s ol WUy cAcRAULAN AHsLAL.
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